FETCH TOYS

ŧ

-

ltem#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
LIG1200	Fetch Ball - Lucky Dog Bone	Surfer Blue	2.5"	6	\$6.00	\$36.00	Х		=	
LIG1200	Fetch Ball - Lucky Dog Heart	Washed Plum	2.5"	6	\$6.00	\$36.00	Х		=	
LIG1200	Fetch Ball - Assorted	N/A	2.5"	6*	\$6.00	\$36.00	Х		=	
*assortmer	nt is 3 of each color listed above									

*assortment is 3 of each color listed above

tr S	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
BAL	LIG1200	Fetch Ball - Lucky Dog Bone	Retro Green	4"	6	\$7.50	\$45.00	Х		=	
ш Ц	LIG1200	Fetch Ball - Lucky Dog Heart	Perfect Plum	4"	6	\$7.50	\$45.00	Х		=	
LC	LIG1200	Fetch Ball - Assorted	N/A	4"	6*	\$7.50	\$45.00	Х		=	
ΕË	*assortme	nt is 3 of each color listed above									

*assortment is 3 of each color listed above

S	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
ER	LIG3200	Rocket Flyer	Surfer Blue/Retro Green	ONE SIZE	6	\$7.00	\$42.00	Х		=	
FLYERS	LIG3200	Rocket Flyer	Washed Plum/Perfect Plum	ONE SIZE	6	\$7.00	\$42.00	Х		=	

CHEW TOYS

📽 🖸 Item# Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
LIG1100 Rocket Ball - CWYL Rocket	Surfer Blue	2.5"	6	\$5.00	\$30.00	Х		=	
LIG1100 Rocket Ball - CWYL Paw	Washed Plum	2.5"	6	\$5.00	\$30.00	Х		=	
LIG1100 Rocket Ball - Assorted	N/A	2.5"	6*	\$5.00	\$30.00	Х		=	
LIG1100 Rocket Ball - Santa Rocket	Holiday Red	2.5"	6	\$5.00	\$30.00	Х		=	

*assortment is 3 of each color listed above

¶ SI	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
3AL	LIG1100	Rocket Ball - CWYL Rocket	Retro Green	4"	6	\$6.50	\$39.00	Х		=	
E B	LIG1100	Rocket Ball - CWYL Paw	Perfect Plum	4"	6	\$6.50	\$39.00	Х		=	
JKE	LIG1100	Rocket Ball - Assorted	N/A	4"	6*	\$6.50	\$39.00	Х		=	
Ő	LIG1100	Rocket Ball - Santa Rocket	Holiday Red	4"	6	\$6.50	\$39.00	Х		=	

*assortment is 3 of each color listed above

₿ ES	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
INC	LIG1300	Funny Bone	Retro Green	5.75"	6	\$5.00	\$30.00	Х		=	
Z B(LIG1300	Funny Bone	Perfect Plum	5.75"	6	\$5.00	\$30.00	Х		=	
IN	LIG1300	Funny Bone Assorted	N/A	5.75"	6*	\$5.00	\$30.00	Х		=	
FUN	LIG1300	Funny Bone	Holiday Red	5.75"	6	\$5.00	\$30.00	Х		=	

*assortment is 3 of each color listed above

∰ B	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
INC	LIG1300	Funny Bone	Surfer Blue	7"	6	\$6.50	\$39.00	Х		=	
Z BC	LIG1300	Funny Bone	Washed Plum	7"	6	\$6.50	\$39.00	Х		=	
NN	LIG1300	Funny Bone Assorted	N/A	7"	6*	\$6.50	\$39.00	Х		=	
IU ⁻	LIG1300	Funny Bone	Holiday Red	7"	6	\$6.50	\$39.00	Х		=	

*assortment is 3 of each color listed above

SQUEAKY TOYS

∽ Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
D LIG3100	Squeaky Toy Rocket	Sunrise	5"	2	\$6.00	\$12.00	Х		=	
	Squeaky Toy Heart	Perfect Plum	5"	2	\$6.00	\$12.00	Х		=	
LIG3100 LIG3100 LIG3100 S LIG3100	Squeaky Toy Rocket	Sunrise	7"	2	\$8.00	\$16.00	Х		=	
5 LIG3100	Squeaky Toy Heart	Perfect Plum	7"	2	\$8.00	\$16.00	Х		=	
¹ LIG3100	Squeaky Holiday Bone	Holiday Red	8.5"	2	\$6.00	\$12.00	Х		=	
								CASES		AMOUNT
= Made in	the U.S.A.					SUBTOTAL PA	GE 1			

Life is good Pet by Planet Dog 85 Bradley Drive, Westbrook, Maine 04092 | www.lifeisgoodpetretailer.com | All figures are in U.S. Dollars.

WANDER

	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
	LIG2100	Nylon Collar - Rocket	Retro Green	S	2	\$6.00	\$12.00	Х		=	
RS	LIG2100	Nylon Collar - Heart	Perfect Plum	S	2	\$6.00	\$12.00	Х		=	
LA	LIG2100	Nylon Collar - Rocket	Retro Green	М	2	\$7.00	\$14.00	Х		=	
OL	LIG2100	Nylon Collar - Heart	Perfect Plum	М	2	\$7.00	\$14.00	Х		=	
0	LIG2100	Nylon Collar - Rocket	Retro Green	L	2	\$8.00	\$16.00	Х		=	
	LIG2100	Nylon Collar - Heart	Perfect Plum	L	2	\$8.00	\$16.00	Х		=	

	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
БS	LIG2200	Nylon Leash - Rocket	Retro Green	S	2	\$13.00	\$26.00	Х		=	
SH	LIG2200	Nylon Leash - Heart	Perfect Plum	S	2	\$13.00	\$26.00	Х		=	
ΈA	LIG2200	Nylon Leash - Rocket	Retro Green	L	2	\$15.00	\$30.00	Х		=	
	LIG2200	Nylon Leash - Heart	Perfect Plum	L	2	\$15.00	\$30.00	Х		=	

	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered	Case \$ Total
ທ	LIG2300	Nylon Harness - Rocket	Retro Green	S	2	\$17.00	\$34.00	Х	=	:
ESSES	LIG2300	Nylon Harness - Heart	Perfect Plum	S	2	\$17.00	\$34.00	Х	=	:
ES	LIG2300	Nylon Harness - Rocket	Retro Green	М	2	\$19.00	\$38.00	Х	=	:
'RN	LIG2300	Nylon Harness - Heart	Perfect Plum	М	2	\$19.00	\$38.00	Х	=	:
ΗA	LIG2300	Nylon Harness - Rocket	Retro Green	L	2	\$21.00	\$42.00	Х	=	:
	LIG2300	Nylon Harness - Heart	Perfect Plum	L	2	\$21.00	\$42.00	Х	=	:

CHILL OUT

N	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered	Case \$ Total
ERS	LIG7100	Journey Nester	True Blue	S	2 of any size and shape	\$25.00	N/A	Х	=	
NEST	LIG7100	Journey Nester	Deepest Plum	S	2 of any size and shape	\$25.00	N/A	Х	=	
N	LIG7100	Journey Nester	True Blue	М	2 of any size and shape	\$30.00	N/A	Х	=	
ΛEΥ	LIG7100	Journey Nester	Deepest Plum	М	2 of any size and shape	\$30.00	N/A	Х	=	
JRNEY	LIG7100	Journey Nester	True Blue	L	2 of any size and shape	\$35.00	N/A	Х	=	
JOL		Journey Nester	Deepest Plum	Ĺ	2 of any size and shape	\$35.00	N/A	Х	=	

	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered	Case \$ Total
Ŋ	LIG7200	Food & Water Bowl	Turquoise	S	2	\$9.00	\$18.00	Х	=	-
ML	LIG7200	Food & Water Bowl	Perfect Plum	S	2	\$9.00	\$18.00	Х	=	:
BO	LIG7200	Food & Water Bowl	Turquoise	L	2	\$10.00	\$20.00	Х	=	-
	LIG7200	Food & Water Bowl	Perfect Plum	L	2	\$10.00	\$20.00	Х	=	:

70	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
ATS	LIG7300	Lucky Dog Placemat	Deepest Plum	ONE SIZE	2	\$9.00	\$18.00	Х		=	
M.	LIG7300	Half Full Placemat	True Blue	ONE SIZE	2	\$9.00	\$18.00	Х		=	

YUM

¢	Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
TTS	LIG7400	Go Bananas! Dog Biscuits	N/A	ONE SIZE	6	\$5.00	\$30.00	Х		=	
CU	LIG7400	Say Cheese! Dog Biscuits	N/A	ONE SIZE	6	\$5.00	\$30.00	Х		=	
BISCI	LIG7400	Slobber & Spice Dog Biscuits	N/A	ONE SIZE	6	\$5.00	\$30.00	Х		=	
											AMOUNT
							SUBTOTAL PAG	GE 2			

ROCK IT

Iter	m# Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered		Case \$ Total
LIG6	100 Bandana - Lucky Dog	Surfer Blue	S	2	\$5.00	\$10.00	Х		=	
LIG6	100 Bandana - Lucky Dog	Washed Plum	S	2	\$5.00	\$10.00	Х		=	
	100 Bandana - Lucky Dog	Holiday Plaid	S	2	\$5.00	\$10.00	Х		=	
V LIG6	100 Bandana - Lucky Dog	Surfer Blue	М	2	\$6.00	\$12.00	Х		=	
LIG6	100 Bandana - Lucky Dog	Washed Plum	М	2	\$6.00	\$12.00	Х		=	
LIG6	100 Bandana - Lucky Dog	Holiday Plaid	М	2	\$6.00	\$12.00	Х		=	
LIG6	100 Bandana - Lucky Dog	Surfer Blue	L	2	\$7.00	\$14.00	Х		=	
LIG6	0100 Bandana - Lucky Dog	Washed Plum	L	2	\$7.00	\$14.00	Х		=	
LIG6	0100 Bandana - Lucky Dog	Holiday Plaid	L	2	\$7.00	\$14.00	Х		=	

Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered	Case \$ Total
LIG4100	Canine Crusher - Lucky Dog	Retro Green	XS	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Retro Green	S	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Retro Green	М	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Retro Green	L	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Retro Green	XL	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Retro Green	XXL	2	\$10.00	\$20.00	Х	=	
2 LIG4100	Canine Crusher - Lucky Dog	Perfect Plum	XS	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Perfect Plum	S	2	\$8.00	\$16.00	Х	=	
E LIG4100	Canine Crusher - Lucky Dog	Perfect Plum	М	2	\$8.00	\$16.00	Х	=	
LIG4100 LIG4100 LIG4100	Canine Crusher - Lucky Dog	Perfect Plum	L	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Perfect Plum	XL	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Perfect Plum	XXL	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Turquoise	XS	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Turquoise	S	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Turquoise	М	2	\$8.00	\$16.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Turquoise	L	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Turquoise	XL	2	\$10.00	\$20.00	Х	=	
LIG4100	Canine Crusher - Lucky Dog	Turquoise	XXL	2	\$10.00	\$20.00	Х	=	

Item#	Product Description	Color	Size	Case Count	Unit Price	Case Price		Cases Ordered	Case \$ Total
LIG4200	Sweater	Surfer Stripe	XS	2	\$12.50	\$25.00	Х	=	:
LIG4200	Sweater	Surfer Stripe	S	2	\$12.50	\$25.00	Х	=	:
LIG4200	Sweater	Surfer Stripe	М	2	\$15.00	\$30.00	Х	=	:
LIG4200	Sweater	Surfer Stripe	L	2	\$15.00	\$30.00	Х	=	:
LIG4200	Sweater	Surfer Stripe	XL	2	\$17.50	\$35.00	Х	=	:
LIG4200	Sweater	Surfer Stripe	XXL	2	\$17.50	\$35.00	Х	=	:
LIG4200	Sweater	Washed Plum Stripe	XS	2	\$12.50	\$25.00	Х	=	:
LIG4200 LIG4200 LIG4200 LIG4200 LIG4200 LIG4200 LIG4200 LIG4200 LIG4200 LIG4200 LIG4200	Sweater	Washed Plum Stripe	S	2	\$12.50	\$25.00	Х	=	:
LIG4200	Sweater	Washed Plum Stripe	М	2	\$15.00	\$30.00	Х	=	:
LIG4200	Sweater	Washed Plum Stripe	L	2	\$15.00	\$30.00	Х	=	:
LIG4200	Sweater	Washed Plum Stripe	XL	2	\$17.50	\$35.00	Х	=	:
LIG4200	Sweater	Washed Plum Stripe	XXL	2	\$17.50	\$35.00	Х	=	:
LIG4200	Holiday Sweater	Holiday Stripe	XS	2	\$12.50	\$25.00	Х	=	:
LIG4200	Holiday Sweater	Holiday Stripe	S	2	\$12.50	\$25.00	Х	=	:
LIG4200	Holiday Sweater	Holiday Stripe	М	2	\$15.00	\$30.00	Х	=	:
LIG4200	Holiday Sweater	Holiday Stripe	L	2	\$15.00	\$30.00	Х	=	:
LIG4200	Holiday Sweater	Holiday Stripe	XL	2	\$17.50	\$35.00	Х	=	:
LIG4200	Holiday Sweater	Holiday Stripe	XXL	2	\$17.50	\$35.00	Х	=	:
								CASES	AMOUNT
						SUBTOTAL PA	GE 3		

	UNDED	Amount
SUBTOTAL PAGE 3		
SUBTOTAL PAGE 2		
SUBTOTAL PAGE 1		
GRAND TOTAL		

(before shipping)

Life is good Pet by phone 800-LIG-PETS (544-7387) CS@lifeis	Planet Dog	Purchase Order Number Promotional Code (if applicable)					
Bill To:		Ship To: (if different	t)				
Company Name		Company Name					
Buyer Name		Buyer Name					
Accounts Payable Contact		Accounts Payable C	contact				
Address		Address					
City, State, Zip		City, State, Zip					
Phone () Fax ()	Phone () Prefer fax or	Fax (
New Account? yes no May we send you promotions via email? If so, please provide your email.	Do you have a web site? If Terms Requested For First orders are prepaid or Discover.		lethod: UPS Ground unless UPS 2nd Day UPS Collect				
Reseller's Certificate #	Credit Card (VS, MC, A Account#	MEX, DISCOVER)	*All orders shipped to F Territories will be shipp				
Pet Store Gift Store Catalog Exp. Date		accounts only)	Territories will be shipped US Mail. Orders shipped to Canada will be US Mail unless otherwise specified and additional charges may apply. Please contact Customer Service at 800-LIG-PETS (544-7387) for more information.				
Life is good Pet by Planet Dog?			-	:			

Life is good donates 10% of its annual net profits to help kids in need.

Learn more at Lifeisgood.com

